			GENERAL	SERVICE INVOICES			
BOT Meeting Date							
9/14/2022							
	Invoice				Period		
Invoice Date	Number	Vendor	Acct. #	Description	Ending		Amount
8/8/2022	2165928	Carlisle Wortman	725.820	Planning Consultation	7/31/2022		\$ 10,910.00
		+					
						TOTAL	\$10,910.00

Carlisle Wortman

ASSOCIATES, INC.

117 NORTH FIRST STREET SUITE 70 ANN ARBOR, MI 48104 734.662.2200 734.662.1935 FAX

]	INVOICE	
Elizabeth Bergeron Pittsfield Township 6201 Michigan Avenue Ann Arbor, MI 48108			Invoice No. Client No.: Date: Period End:			2165928 222 08/08/22 7/31/2022	
Planning Co	onsultat	ion_					
7/5/2022	LK	Office hours: phone and email consultation; zoning compliance review; building permit review.	3.00 @	105.00/hr	=	315.0	
7/6/2022	LK	Office hours: phone and email consultation; zoning compliance review; building permit review.	3.00 @	105.00/hr	=	315.0	
7/7/2022	LK	Office hours: phone and email consultation; zoning compliance review; building permit review; PC meeting preparation.	4.00 @	105.00/hr	=	420.0	
	LK	(1) NIGHT MEETING - PC meeting prep and attendance.	1.00 @	105.00/hr	=	105.0	
7/8/2022	LK	Office hours: phone and email consultation; building permit review; zoning compliance review; site inspection (Buff City Soap per Ben)	5.00 @	105.00/hr	=	525.0	
7/11/2022	LK	Office hours: phone and email consultation; zoning compliance, building permit reviews; PC agenda.	3.00 @	105.00/hr		315.0	
7/12/2022	LK	Office hours: phone and email consultation; counter help; zoning compliance; building permit review; PC agenda/packet.	4.50 @	105.00/hr	= 1	472.5	
PROVED				20.37			
CT#		Page I					

DATE_

Carlisle Wo	Carlisle Wortman Associates, Inc.			Invoice No.		2165928 08/08/22
7/13/2022	LK	Office hours: phone and email consultation; zoning compliance; building permit review; ARC; pre-development meeting; site inspection.	5.00 @	105.00/hr	=	525.00
7/14/2022	LK	Office hours: phone and email consultation; zoning compliance; building permit review; finalize PC packet.	4.50 @	105.00/hr	=	472.50
7/15/2022	LK	Office hours: phone and email consultation; zoning compliance; building permit review.	6.00 @	105.00/hr	,==, °, °, °, °, °, °, °, °, °, °, °, °, °,	630.00
7/18/2022	LK	Office hours: phone and email consultation; zoning compliance; building permit review.	3.50 @	105.00/hr	= ;	367.50
	ВС	Township office hours remote including project coordination with staff, ARC meeting preparation, returned emails from applicants and residents.	4.00 @	115.00/hr	=	460.00
7/19/2022	LK	Office hours: phone and email consultation; zoning compliance; building permit review.	3.00 @	105.00/hr	= 1	315.00
7/20/2022	LK	Office hours: ARC attendance, pre-development meeting; PC prep; building permit review, zoning compliance review; phone and email consultation.	4.50 @	105.00/hr	=	472.50
	ВС	Township office hours remote including project coordination with staff, returned emails from applicants and residents. Coordination with	4.00 @	115.00/hr	=	460.00

4.00 @ 105.00/hr

420.00

Supervisor.

7/21/2022

LK

Office hours: phone and email consultation; counter help; zoning compliance, building permit review.

Carlisle Wo	Carlisle Wortman Associates, Inc.			Invoice No.		2165928 08/08/22
7/22/2022	LK	Office hours: phone and email consultation; counter help; zoning compliance review; building permit review.	7.00 @	105.00/hr	=	735.00
7/25/2022	LK	Office hours: phone and email consultation; counter help; zoning compliance; building permit review; ZBA preparation.	8.00 @	105.00/hr	= 1	840.00
	LK	(1) NIGHT MEETING - ZBA meeting attendance	1.50 @	105.00/hr	=	157.50
	ВС	Township office hours including project coordination with staff, ARC meeting preparation, returned emails from applicants and residents.	6.00 @	115.00/hr	=	690.00
7/26/2022	LK	Office hours: phone and email consultation; zoning compliance; building permit review; PC packet preparation; counter help.	4.00 @	105.00/hr	=0	420.00
7/27/2022	LK	Office hours: phone and email consultation; ZBA minutes review; PC packet preparation; zoning compliance; building permit review.	4.50 @	105.00/hr	=	472.50
	ВС	Township office hours including project coordination with staff, returned emails from applicants and residents. Coordination with Supervisor.	6.00 @	115.00/hr	=	690.00
7/28/2022	LK	Office hours: phone and email	2.00 ○	105.00/1		215.00

AMOUNT DUE THIS INVOICE:

building reviews.

consultation; zoning compliance;

\$10,910.00

315.00

3.00 @ 105.00/hr